Pascal

Die settrer

Die setting system

R ‘ 00 1 A

3,500kN IMM vertical loading Die setting system & Mag clamp

Pascal corporation



MDL Die setting system

New proposal in place of conventional locate ring

Introducing a Die setter, the horizontal and vertical positioning can be determined surely and easily
by placing a mold on a Die setter and it improves the productivity and set up.

im0 Q| oo

3,500kN (350ton) IMM vertical loading Die setting system & Mag clamp

Die setter operation panel Die setter & Clamp operation panel

Die setter operation panel

Pascal mold clamp

Clamp
operation button

Die setter
operation button

The lift of Die set block is operated.
It is mountable near the IMM control
panel with L type bracket.

There is also a model
integrated with clamp and
die setter.

Contact Pascal for details.




MDL Die setting system

| Up | Down

The lower end position of Die set block
Center pin Die set block

Die set base

Leveling block
(Spacer for height adjustment)

Air cylinder

Leveling block

Positioning by putting leveling block
between a die set block and die set base.

Model designation

MDL @

i..e 1 Die setter block type

@ : Fixed side (with center pin)

E : Movable side (without center pin)

S e 2 Mold weight

Model MDLO1 MDLO3 MDLO04 MDLO6 MDL10 MDL15
2 Mold weight kg 1000 3000 4000 6000 10000 15000
. Clamping force kN (ton) | 1000(100) | 2300(230) | 3500(350) | 6500(650) | 8500(850) |10500(1050)
Applied IMM ; : . - . -
Loading direction Vertical loading, Horizontal loading

Leveling block is attached. (2pcs)



MDL Die setting system

Die setting with locate ring

Mold center (X Y) is not stable. Hard to load the mold

Visual confirmation from back side of platen
(nozzle side) due to the shape of locate ring/Risk
of damage of platen or mold when mold loading

pis

g

N
N
N
N
N
N
N

N J Locate ring

\

Die setting with die setter

Mold center (X,Y)is quickly secured. By placing the mold on the die setter,
die setting is easy.
Y

/O@ i @O\ —
ﬁ-}::(g X?: =
X { an , J C,_‘_\—ll—‘
= B
=T

Die setter Die setter

Mold leveling
‘Unnecessary

Positioning mold
with locate ring

. Visual check from
‘Unnecessary

injection unit side
:Unnecessary




MDL Die setting system

Die setting system & Automatic clamp (vertical loading)

| Large sized mold | | Small sized mold |

) %X - Guide block ) é{;« .
O / X O O O

it /|

©

Center pin

\\
//
-
:

O/ rw

Die set block
Leveling block
Die set base (Spacer for height
adjustment)
Guide "\ Air oylinder U U
o U D

Die setting system & Mag clamp (vertical loading)

| Large sized mold | | Small sized mold |

A Mag clamp

N
-

Center pin Jﬁl

® QIOI Iolo °
e OI.I I.I. L

;
19
<

@ ole [ o

Die set block

Leveling block
(Spacer for height

adjustment)
\__Air cylinder D U
= O D

Die set base




MDL Die setting system

Die setting roller & Mag clamp (horizontal loading)

Small sized mold

Positioning cylinder

Safety door

Mag clamp y
Mold
Die set block
Leveling block
(Spacer for height
adjustment)
Lifting table
Die set base
Guide
Air cylinder Roller block
No modification is required on mold.
Just replacing rollers to another
position according to the transport
level.
U
Mold
'
Lifting table

Roller block

Transport level change

Roller position for small sized mold

The minimum roller pitch

Roller position for large sized mold More than 50mm

*In case that the roller pitch is less than 50mm,
contact Pascal for details.



MDL

Mag clamp

In standard horizontal mag clamp system

Die setting system

A spacer should be attached to the mold to match the transport level.

Spacer

Positioning cylinder . Safety door
U
U
Mold Mold
(big size) (small size)
o
Fixed table

Roller block




MDLO1 Outline dimensions

MDLO1A (for fixed platen)

309" ,.3

Machine centerline

W W (743) Clearance

49.7 | 03

/
\
|
i
IS
=/
| —
l_l_U
C
1%

Center pin details 30333 | 30 ~

Leveling block (Removable) 2 pcs / ‘

Die support block / @ /@ lo)

Base block i AEFTT% T = | =
(0)

Mounting screw 2 - M16 55mm long

Spring washer 2- M16 Tl T

Parallel pin 2 - dia 13 (h7) 70mm long

Guide / %J DE

(C-95)~C

©

220

Connection port for lower (dia 6 tube) ‘@‘
Air cylinder 250
Connection port for raise (dia 6 tube)
MDLO1B (for movable platen)
Machine centerline
(74.3)
Clearance
49.7 | 03

(C-95)~C

Leveling block

35—
1l

il

I

I

[

g

@
e
o
©

220




MDLO3

459" 3

N N

o

Center pin details 4593 | 30

Leveling block (Removable) 2 pcs /_

Die support block

Base block

Mounting screw 2 - M16 55mm long
Spring washer 2- M16

Parallel pin 2 - dia 16 (h7) 75mm long

MDLO3A

Outline dimensions

(for fixed platen)

Machine centerline

N\

Guide

Connection port for lower (dia 6 tube)

Air cylinder

Connection port for raise (dia 6 tube)

Leveling block

(72)

(C-95) ~C

49.7

Clearance
0.3

29

MDLO3B

T T
R
Ry il
© o o © 2
=
] &
o)
250
(for movable platen)
Machine centerline
E—v%wfj .
]y <
L
© ¢ o O @
T

(72)
49.7

Clearance
0.3

29




MDLO04 Outline dimensions

MDLO4A (for fixed platen)

2
K
"?/\f 45+g.1 3
= O K, . .
=y AN " Machine centerline
= ~
i W Clearance
49.7 0.3
T~ == lﬁl}::@::: — 29
Center pin details | 45033 30 F—r -t - — - — dr— —j k?) T
‘ | T[ | ; ‘ | T | 8 v
| I [ | N
1 oS
‘ I ‘ I " ‘ I ‘ <
: I : I i I : I : I
Leveling block (Removable) 2 pcs /" ! | ! ﬂ!l | ! | ! ]
Die support block / L] I AT L ——
@ P (6] © - )
Base block TR HTH
/}l
Mounting screw 2 - M20 60mm long
Spring washer 2- M20
A
Parallel pin 2 - dia 20 (h7) 80mm long / m
Guide T é . L
Connection port for lower (dia 6 tube) L L'E%'J
Air cylinder 400
Connection port for raise (dia 6 tube)
MDLO4B (for movable platen)
Machine centerline
Clearance
49.7 0.3
FE i o . Uﬁ_j y %
g g v
L] D
I ‘ | i ‘ | ‘ &
| | [N i [N | |
R
Leveling block L | I
T : T T /=
I ] 1 i L
® 6] ) (&) - )
i T
o
M
)
L 18]
400




MDLO6

2
@4 *'? 6o+g.1 2 3
s

Outline dimensions

MDLOG6A (for fixed platen)

Machine centerline

Sq
g8 .
77777 71): D | Clearance
[E:::: ,,,, ;,,:i:ﬂ U 497 0.3
~— M §Tfﬁ ES )
| |
Center pin details 60332 y : i ! : ! ‘ : ! : i ! N U
[T I e
bl | finn
Rl | s
‘ | ! | P!
Leveling block (Removable) 2 pcs / i ! ; ! ﬁ" ; ! ; i ! —
| i ;‘ i i | |
Die support block / | il A 1 L ——
© @ © - )
Base block / 'n-[]-r%& HTH
Mounting screw 2 - M20 60mm long
Spring washer 2- M20
Parallel pin 2 - dia 25 (h7) 85mm long / / §
Guide T
Connection port for lower (dia 6 tube) 18]
B
Air cylinder
450
Connection port for raise (dia 6 tube)
MDLO6B (for movable platen)
Machine centerline
777777777777777 0 Clearance
[E:::::::::::::::ﬂ U 49.7 0.3
R R A 38
| : ‘ | ‘ | ‘ | : ‘ ,g
! | ! | | ! | ! | ‘T‘ U
it i I
S L A
‘ ! ‘ ‘ ‘ 1! ‘ [ ‘ ! \
|
Leveling block | i ! i ! M i ! i i !
T - 1]
® @ @ © - -
e el
o
)
M
- - 18]
L0
450

10



MDL10

)
X7
Uy, 1009 3
%

35

(Mold)
Min.40

1003553 30

Center pin details

Leveling block (Removable) 2 pcs

Die support block

Base block

/

Mounting screw 2 - M24 70mm long
Spring washer 2- M24

Parallel key 2-25-14 60mm long

Parallel key 1-25-14 30mm long

Guide

Connection port for lower (dia 6 tube)

Outline dimensions

MDL10A (for fixed platen)

Machine centerline

Clearance
0.3

(C-270) ~C

115

Air cylinder

Connection port for raise (dia 6 tube)

Machine centerline

Leveling block

E1

380

500

MDL10B (for movable platen)

Clearance
0.3

(C-270) ~C

\ \ \ il 1
@ T S @ -
i
o
a
L
500




MDL15 Outline dimensions

MDL15A (for fixed platen)

2,
+0.16
Yo 140% 3 Machine centerline
‘s

—n |
% z :::D:\L”*L::: Clearance
== Le)

-0.15 0° 2

Center pin details 14025 3 5
o v

<

Die support block

|
Leveling block (Removable) 2 pcs !
\

F ,,,,,,,, I i 69.7, 0.3
T 2
| I
I I
| I
\

— .
HEe—T y
Base block oL I~
1O =0 |
T W
Mounting screw 2 - M30 75mm long "E'? Ca=)
Spring washer 2- M30 1NN

Parallel key 2-25-14 60mm long

Parallel key 1-25-14 35mm long / /

0
M
<
Guide
Connection port for lower (dia 6 tube) - o 1
% 31
Air cylinder - =
500
Connection port for raise (dia 6 tube)
MDL15B (for movable platen)
Machine centerline
o Clearance
@]
2
| ‘ (G}
| plo
| <

|
|
Leveling block \
|

i i — 69.7, 0.3
fﬁﬂ;;ﬂfi =
| |
| |
| |
\

1] E— o B
& Jamnr T - -
i TF
a
<
NN K
500

12



13

MDL Die setting system circuit

Die setter operation panel is used (in case it is controlled with hand valve)

Movable side die setter Fixed side die setter
MDL-B

(Up)

Die setter operation panel

MDL-BKTLI

(Down)

- ————— ] Air 0.47MPa

Die setter and clamp operation panel is used (in case it is incorporated in the control device)

It does not correspond to some clamps. Contact Pascal for details.

Movable side die setter Fixed side die setter
MDL-B

T

(Up) (Down)

(Down)

Solenoid valve unit
GSF

=4 Air 0.47MPa

Die setter & Clamp
Control box operation panel

Machine

Power




MDL-BKT Die setting system operation panel

Die-setter

e MVF-A4E4 = M2020-004-2

Model designation

MDL — BKT

‘e 1 Number of circuits

: 1 circuit (Only fixed side)

m : 2 circuits (Fixed side & Movable side)

Hand valve switch

MDL — BKT| 01

Pneumatic circuit

Hand valve switch (SMC)

T
2

Die set block

lifting cylinder /

MDL — BKT| 02|

Pneumatic circuit

Die set block

Hand valve switch (SMC) lifting cylinder
X

Die set block

lifting cylinder

Mounting bolt Model MDL-BKTO1 MDL-BKT02
M6 X 14 (accessory)
) Weight kg 1.5
Sf ) 8
T A
64 130 ‘ MDL-BKTO1 MDL-BKT02
- = Die-setter - @ @
Y =
ik alil alil
0 5 © /Dp

Die setter block
up/down switch

Upward port
to speed controller

Downward port
to speed controller

Hand valve switch (SMQ)




MDL Die setting system Caution in use

Operational procedure

N
\/

Die support block

Leveling block

Die setter

o Raise the support block and place
the leveling blocks on the base
block.

Center pin

@ @LIIO OILI@ @

9 Place the mold onto the support
block by dowelling the center pin

to the mold cutout.

15

Mold

12

Mold O r

o

A
|

0 'E T O

O

Die support block

Lower the support block to
accept the mold loading.

L=

Clamp the mold by platens and
die setting is completed.



MDL Die setting system Caution in use

Do not use the locate ring and the die setter with center pin removed at the same time simply

because there is no cutout on the mold for the center pin.

The right and left(X) positioning can not be made by simply placing the mold on die setter.

There is a risk of sudden movement of the mold when it starts skidding on the die setter.

When the mold leans to one side, the die setter may incline due to the uneven load.

Clearance by using a locate ring

Q/

p SR
O / |
Locate ring
] = ) | |

)
o Ra
. / [T
Flat
Die setter 1 | (The. |§ft .amd right Die setter
positioning can not
be made.)

In case of using die setter for the mold with no U-cut, keep it out of

58
K
2

L

(O

the range of the mould mount area in advance not to interfere each other.

(O

Imcomplete seating
on the die setter

o
Die setter ] m ]

| Keep the distance
Q /%@ . % O not to interfere each other

16



17

MDL

Die setting system

.I = = i

3,500kN (350ton) IMM horizontal loading Die setting roller



MDL

Die setting system

—

;.

3,500kN (350ton) IMM vertical loading Die setting system & Mag clamp

L
(= e o ’
A a1} el lE —
-
= ’ P
- Dl Aaleie ] ==
v TE il -
- ‘ L
- 3&}, L
k&
U =5

-

8,500kN (850ton) IMM vertical loading Die setting system & Mag clamp

3,500kN (350ton) IMM horizontal loading Die setting roller & Mag clamp

18



Pascal

[tami, Hyogo, Japan 664-8502
TEL. +81-72-777-3333 FAX. +81-72-777-3520

Chicago, U.S.A. TEL.
Stuttgart, Germany  TEL.
Dalian, China TEL.
Shanghai, China TEL.
Changwon, Korea TEL.
Bangkok, Thailand TEL.

+1-847-427-1234
+49-711-782-850-0
+86-411-8732-2988
+86-21-5263-4122
+82-55-274-0971
+66-2173-5855

QMC-T1E-MDL-21
2025.03

Specifications are subject to change without prior notice.

M3
SOCOTEC cigse

150 9001

CERTIFICATE OF APPROVAL 1509001




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Impact
    /LucidaConsole
    /Tahoma
    /Tahoma-Bold
    /TimesNewRomanMT-ExtraBold
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (Japan Color 2001 Coated)
  /PDFXOutputConditionIdentifier (JC200103)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Magnification /FitPage
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements true
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /UseName
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
  /PageLayout /TwoUpCoverPageContinuous
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [595.276 841.890]
>> setpagedevice


